Plan Product Summary 2019

0-0-60	(Fert_	_Dist)
--------	--------	--------

Name 2019 Soybean Plan 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Pre-Plant Pre-Plant	Target Date 9/19/2019 3/15/2019 Total Produc	Total Product 28.38 ton 28.84 ton t: 57.22	Cost / Acre \$13.20 \$17.50 Total Cost:	Total Cost \$9,365.27 \$10,094.70 \$19,459.97	
10-34-0 (Fert_D	ist)					
Name 2019 Soybean Plan	Timing Event Planting	Target Date 9/19/2019 Total Produc	Total Product 12.52 ton t: 12.52	Cost / Acre \$7.24 Total Cost:	Total Cost \$5,134.38 \$5,134.38	
11-52-0 (Fert_D	ist)					
Name 2019 Soybean Plan	Timing Event Pre-Plant	Target Date 9/19/2019 Total Produc	Total Product 35.47 ton t: 35.47	Cost / Acre \$23.50 Total Cost:	Total Cost \$16,673.02 \$16,673.02	
18-46-0 (Fert_D	ist)					
Name 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Pre-Plant	Target Date 3/15/2019	Total Product 57.68 ton	Cost / Acre \$49.90	Total Cost \$28,784.32	
Address and Minavie 1100		Total Produc	t: 57.68	Total Cost:	\$28,784.32	
82-0-0 (Fert_Di	st)					
Name 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Growing	Target Date 5/15/2019	Total Product 57.68 ton	Cost / Acre \$53.38	Total Cost \$30,788.84	
Acarem and Island Island		Total Produc	t: 57.68	Total Cost:	\$30,788.84	
Acuron (Syngenta)						
Name 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Growing	Target Date 5/1/2019	Total Product 360.53 gal	Cost / Acre \$39.38	Total Cost \$22,713.08	
Acarem and Milavie 1100		Total Produc	t: 360.53	Total Cost:	\$22,713.08	
Anhydrous Application (Services)						
Name 2019 Corn Plan B -	Timing Event Growing	Target Date 5/15/2019	Total Product 576.84 ac.	Cost / Acre \$13.00	Total Cost \$7,498.92	
Acuron and Miravis Neo			F70 04		Ф 7 400 00	

Total Product: 576.84

\$7,498.92

Total Cost:

Plan Product Summary

BroadAxe XC (Syngenta)

Name 2019 Soybean Plan CruiserMaxx Vik	Timing Event Growing Drance - Soyb	Target Date 9/19/2019 Total Product Cans - 140,0		Cost / Acre \$15.04 Total Cost: (Syngenta)	Total Cost \$10,670.07 \$10,670.07		
Name 2019 Soybean Plan	Timing Event Planting	Target Date 9/19/2019 Total Product	Total Product 709.49 bag (140000 seed) 709.49	Cost / Acre \$12.00 Total Cost:	Total Cost \$8,513.88 \$8,513.88		
Flexstar GT 3.5	(Syngenta)						
Name 2019 Soybean Plan	Timing Event Growing	Target Date 9/19/2019 Total Product	Total Product 310.40 gal : 310.40	Cost / Acre \$14.00 Total Cost:	Total Cost \$9,932.86 \$9,932.86		
Fusilade DX (Sy	ngenta)						
Name 2019 Soybean Plan	Timing Event Growing	Target Date 9/19/2019 Total Product	Total Product 33.26 gal : 33.26	Cost / Acre \$5.44 Total Cost:	Total Cost \$3,857.85 \$3,857.85		
Gramoxone SL	Gramoxone SL 2.0 (Syngenta)						
Name 2019 Soybean Plan 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Planting Pre-Plant	Target Date 9/19/2019 3/25/2019 Total Product	Total Product 177.37 gal 108.16 gal	Cost / Acre \$5.00 \$6.00 Total Cost:	Total Cost \$3,547.45 \$3,461.04 \$7,008.49		
Harvest (Services)							
Name 2019 Soybean Plan 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Harvest Harvest	Target Date 9/19/2019 9/3/2019 Total Product	Total Product 709.49 ac. 576.84 ac.	\$36.00 \$30.00 Total Cost:	Total Cost \$25,541.65 \$17,305.20 \$42,846.85		
Irrigation Acre Inch (Services)							
Name 2019 Soybean Plan	Timing Event Growing	Target Date 9/19/2019 Total Product	Total Product 9,223.37 ac in 9,223.37	Cost / Acre \$91.00 Total Cost:	Total Cost \$64,563.61 \$64,563.61		

Plan Product Summary 2019

Miravis Neo (S	yngenta)
----------------	----------

Name 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Growing	Target Date 6/22/2019	Total Product 61.74 gal	Cost / Acre \$17.87	Total Cost \$10,310.56		
Aculon and Milavis Neo		Total Produc	t: 61.74	Total Cost:	\$10,310.56		
N68B-3122 (NK							
Name 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Planting	Target Date 4/10/2019	Total Product 230.74 bag (80000 kernel)	Cost / Acre \$96.00	Total Cost \$55,376.64		
Addion and Milavis Neo		Total Produc	000 = 4	Total Cost:	\$55,376.64		
Pel-Lime (Fert_	Dist)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
2019 Soybean Plan	Pre-Plant	9/19/2019 Total Produc	70,949.02 lb at: 70,949.02	\$4.00 Total Cost:	\$2,837.96 \$2,837.96		
		Total Produc	π: 10,040.02	Total Cost:	Ψ2,007.00		
Planting (Service	res)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
2019 Soybean Plan 2019 Corn Plan B -	Planting Planting	9/19/2019 4/10/2019	709.49 ac. 576.84 ac.	\$16.00 \$28.00	\$11,351.84 \$16,151.52		
Acuron and Miravis Neo	rianing			Ψ20.00			
		Total Produc	t: 1,286.33	Total Cost:	\$27,503.36		
S24-K2 (NK)							
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
2019 Soybean Plan	Planting	9/19/2019	709.49 bag (140000 seed)	\$52.00	\$36,893.49		
		Total Produc		Total Cost:	\$36,893.49		
Spraying - Grou	und 10 GPA (S	Services)					
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
2019 Soybean Plan	Growing	9/19/2019 Total Produc	709.49 ac.	\$9.00	\$6,385.41 \$6,385.41		
		i otal Produc	T: 103.43	Total Cost:	ψυ,303.4 Ι		
Spraying - Ground 20 GPA (Services)							
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
2019 Soybean Plan	Planting	9/19/2019	709.49 ac.	\$9.00	\$6,385.41 \$6,385.41		
		Total Produc	t: 709.49	Total Cost:	\$6,385.41		

Plan Product Summary 2019

Spraying (Services)

Name 2019 Corn Plan B - Acuron and Miravis Neo 2019 Corn Plan B - Acuron and Miravis Neo 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Growing	Target Date 5/1/2019	Total Product 576.84 ac.	Cost / Acre \$6.00	Total Cost \$3,461.04		
	Pre-Plant	3/25/2019	576.84 ac.	\$6.00	\$3,461.04		
	Growing	6/22/2019	576.84 ac.	\$6.00	\$3,461.04		
		Total Product	1,730.52	Total Cost:	\$10,383.12		
Spreading - Air	Spreading - Air (Services)						
Name 2019 Soybean Plan	Timing Event Pre-Plant	Target Date 9/19/2019	Total Product 709.49 ac.	Cost / Acre \$7.00	Total Cost \$4,966.43		
2019 Soybean Flan	rie-rialit	Total Product		Total Cost:	\$4,966.43		
Spreading (Services)							
Name 2019 Corn Plan B -	Timing Event Pre-Plant	Target Date 3/15/2019	Total Product 576.84 ac.	Cost / Acre \$6.75	Total Cost \$3,893.67		
Acuron and Miravis Neo		Total Product	576.84	Total Cost:	\$3,893.67		
Warrior II with Zeon Technology (Syngenta)							
Name 2019 Corn Plan B - Acuron and Miravis Neo	Timing Event Growing	Target Date 6/22/2019	Total Product 7.21 gal	Cost / Acre \$3.75	Total Cost \$2,163.15		
		Total Product: 7.21			\$2,163.15		